EAGRAROBREERT — 2 N— ABISH —F

2020518130 (A) 18m{£E6H

myvzl/ﬁ 58 C1 ¥5R4KL (w8 | mEmml - |5 5 o 8
[A&4£] 1 7% :500,000  ~ 2 3#&:150,000  ~ 3 #&:50,000 ~ 43#%:30,000™ . 53 :20,000 ™
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
SN . BER— :28. -3-2- . - JIBEZEF (£8)
el gl vrronxyk B4 R 1(2_8)6 3-3-2-1 | 38.4 1 (4_558) s =]
R:y07% BIIR-TvIN Y H IS
. K 4 5 | BRIt 1:29.1 1-1-1-2 | 39.2| — 6 520 | FBEF (1£8)
» 2 IRT/KRY 56.0 2 1/2) 2 SR
R:T7y3IF—L B:XA42a97FN mEE  HiE
S > 5 | SHIEA 1:29.2 7-7-7-6 | 38.4| — 11 455 | EE—K (ER)
sl 4 ELyYELY 77 860 (1/2) (g |HiLmEE
x> INAMA— BANAY—VU—2X =R E%E
N AIMES : 55— — XHAE (£8)
4 6l H>TuTOYY LI i 1(52/%4 6-5-5-3 | 39.0 4 (4;5) s
R:24%>v ML B:YRE2—FT T =gintve ]
. 4 5 | BHEBEZ 1:29.6 11-11-11-9 | 37.9 | — 8 441 | MEBEF (1EH)
581171 %> 5.0 1/ o) | REHER
LNn—ErTv— BI1-X AN E=FIT—TI
i o6 | REELC 1:29.6 9-9-8-8 |38.4| — 9 515 | HEE (1£H)
6155 TEAHAT 56.0 (74%) (-6) |LETHE
L:F1—TAHhA B:T7X¥F—L FR=WF 77— Ln
SN el : -0-3- — AHR—X (£8)
7 g x>ad- 5 o (17;22% 2-2-3-4 | 39.5 7 ?—543) i i
ST ZANNE BT Y- ILR FE EfE
5 B 5 | BE® 1:29.8 4-6-4-7 |39.4| — 2 514 | BBTiE (£H)
slglip/ AbT1—F2R 54.0 ) (7) | Bt
R:YIRG4J52 B:4RK0O0YF% ZHIT7—L
s S 4t 5 | HHEA :29.8 5-4-6-5 |39.4| — 10 | 453 | FBEA (ER)
9[1|1|E-E-LY—F 54.0 () o) | EEER
LE—E—-HILEY B:U—-HLTI1-X BR=AHIS
= O 4 5 | WO® 1:30.3 8-8-9-10 |39.4 | — 5 495 | FIURFE (ER)
10079 | 7T TALRN= 56.0 @ 1/2) vy |TEER
LA Y39R=5— BLTAILITI> 4= 5 FiIE
IEE:S -10-10- - HHER (EE)
1 e R P i o8 e 1.(310>.5 10-10-10-111 39.3 3 (4_673) ;E#gﬁ ®
XD THANAN B HRIN— M F— HET77—L4
® 1 —F—EBIERL
13=7r= 2,3,8,10,1,6,4,9,5,7,11
23 =7= 2,3,8,1,6,10,4,9,5,7,11
30—7+— 2,8,3,10,6,1,4,5,9,7,11
41—+ — 8,2,6,3,1,4,10,5,11,9,7
[ N3
B O 8 1604 714K 2-8 750M e 2-7 1,730M 3JEHE 2-4-8 61,370
8 B 8 1209 4-8 6,020 B = 2-8 1,970M K31 8-2-4 167,810
2 350M 2-4 28,640 B H 8-2 2,420/
4 1,380

ARICOVWTRDTEEERROODE. TR LI,




